

Program Exit Survey
(Administered Spring 2020)
M.S. Students

M.S. in Public Safety and Homeland Security Management 7 respondents

	Don't know/no opinion		Not at all he	A little bit he	lpful	Somewhat helpful		Very helpfu		Total	Weighted Average	
Written communication skills?	0.00%	0	0.00%	C	14.29%	1	28.57%	2	57.14%	4	7	3.4
Verbal communication skills?	0.00%	0	0.00%	C	28.57%	2	14.29%	1	57.14%	4	7	3.2
Ability/confidence to speak before groups?	0.00%	0	14.29%	1	14.29%	1	14.29%	1	57.14%	4	7	3.1
Critical thinking skills?	0.00%	0	0.00%	C	0.00%	0	28.57%	2	71.43%	5	7	3.7
Ability to plan a project?	0.00%	0	0.00%	C	0.00%	0	33.33%	2	66.67%	4	6	3.6
Understanding of cultures, races, and ethnicities other than your own?	14.29%	1	0.00%	C	14.29%	1	42.86%	3	28.57%	2	7	16.8
Understanding of people with norms and values different than your own?	0.00%	0	0.00%	C	14.29%	1	57.14%	4	28.57%	2	7	3.1
Ability to understand and interpret research findings?	0.00%	0	0.00%	C	0.00%	0	57.14%	4	42.86%	3	7	3.4
Ability to understand and deal with ethical issues?	0.00%	0	0.00%	C	0.00%	0	57.14%	4	42.86%	3	7	3.4
Leadership skills?	0.00%	0	0.00%	C	0.00%	0	42.86%	3	57.14%	4	7	3.5
Fiscal management skills?	0.00%	0	0.00%	C	14.29%	1	57.14%	4	28.57%	2	7	3.1
Critical incident management skills?	0.00%	0	0.00%	C	0.00%	0	14.29%	1	85.71%	6	7	3.8
										,	Answered	
										9	Skipped	

Please rate the Public Safety Management of the following program features:	degree prog	ram c	on the str	engt	h of each	of						
	Don't know/no opinion		Not at all helpful		A little bit helpful		Somewhat helpful		Very helpful		Total	Weighted Average
Ability to offer rigorous courses	0.00%	0	0.00%	0	0.00%	0	42.86%	3	57.14%	4	7	3.57
Ability to offer job-relevant courses	0.00%	0	0.00%	0	14.29%	1	28.57%	2	57.14%	4	7	3.43
Instructors' knowledge of subject matter	0.00%	0	0.00%	0	0.00%	0	28.57%	2	71.43%	5	7	3.71
Teaching ability of instructors	0.00%	0	0.00%	0	0.00%	0	57.14%	4	42.86%	3	7	3.43
Accessibility of instructors outside of the classroom/instructional time	0.00%	0	0.00%	0	14.29%	1	28.57%	2	57.14%	4	7	3.43
Clarity of requirements for the major	0.00%	0	0.00%	0	14.29%	1	14.29%	1	71.43%	5	7	3.57
Preparation of students for careers in public safety	0.00%	0	0.00%	0	0.00%	0	57.14%	4	42.86%	3	7	3.43
Program advising	0.00%	0	0.00%	0	14.29%	1	28.57%	2	57.14%	4	7	3.43
											Answered	7
											Skipped	0

Overall, how would you rate the overall quality of the education your received from the Public Safety Management program at SIU Carbondale?

	Very poo	or	Poor		Fair		Good		Excellent		Undecided		Total		Weighted Average	
star	0.00%	0	0.00%	0	0.00%	0	28.57%	2	71.43%	5	0.00%	0		7	4.71	
													Answered		7	
													Skipped		0	